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QUESTION 1

Branch wireless users report that they can no longer access services from head office but can access services locally at
the site. New wireless users can associate to the wireless while the WAN is down. Which three elements (Cisco
FlexConnect state, operation mode, and authentication method) are seen in this scenario? (Choose three.)

A. authentication-local/switch-local

B. WPAZ2 personal

C. authentication-central/switch-central

D. lightweight mode

E. standalone mode

F. WEB authentication

Correct Answer: ABE

QUESTION 2

A network engineer is deploying 8865 IP phones with wireless clients connected to them. In order to apply the
appropriate QoS, the IP voice traffic needs to be distinguished from client data traffic. Which switch configuration feature
must be enabled?

A. WME

B. QBSS

C. Voice VLAN

D. QoS routing

Correct Answer: C

QUESTION 3

A wireless network has been implemented to enable multicast video to be streamed reliably over the wireless link to the
wireless users. After a client reports that the video is unable to stream, the administrator determines that the client is
connecting at a data rate of 12 Mbps and is trying to stream to a valid multicast address on the network. Which two
actions must be applied? (Choose two.)

A. Turn off IGMP snooping for all the configured WLANSs on the controller.

B. Implement video-stream for the multicast video on the controller.

C. Allow multicast-direct to work correctly and multicast-direct to be enabled globally.

D. Change the WLAN QoS value to Bronze for the WLAN that multicast will be enabled.
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E. Allow RTSP to stream the video due to wireless multicast not using acknowledgements.

Correct Answer: BC

QUESTION 4

An engineer set up identity-based networking with ISE and configured AAA override on the WLAN. Which two attributes
must be used to change the client behavior from the default settings? (Choose two.)

A. DHCP timeout

B. IPv6 ACL

C. multicast address
D. DNS server

E. DSCP value

Correct Answer: BE

QUESTION 5

The marketing department creates a promotion video for the branch store. Only interested hosts must receive the video
over wireless multicast. What allows this feature?

A.DCA
B. WMM
C. WMF
D. TPC

Correct Answer: C
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